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1. Which of the following is true about a rhombus? 

• A. All angles are right angles. 
Incorrect: A rhombus can have angles that are not right angles. Only squares, a 
special type of rhombus, have right angles. 

• B. The diagonals are equal in length. 
Incorrect: The diagonals of a rhombus are not equal in length; only in squares are 
the diagonals equal. 

• C. The opposite sides are unequal. 
Incorrect: All sides of a rhombus are equal. 

• D. The diagonals bisect each other at right angles. 
Correct: This is a defining property of a rhombus. 

• E. Adjacent sides are perpendicular to each other. 
Incorrect: Adjacent sides in a rhombus form angles that are generally not 90 
degrees. 
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2. Which statement is true about a parallelogram? 

• A. All sides are unequal. 
Incorrect: In a parallelogram, opposite sides are equal. 

• B. Opposite angles are equal. 
Correct: This is true for all parallelograms. 

• C. The diagonals are always perpendicular. 
Incorrect: This property holds in a rhombus but not in general parallelograms. 

• D. Adjacent angles are always equal. 
Incorrect: Adjacent angles in a parallelogram are supplementary (sum to 180 
degrees), but they are not equal. 

• E. All four sides are parallel. 
Incorrect: Only the opposite sides are parallel. 
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3. Which of the following is true about a kite? 

• A. All sides are equal. 
Incorrect: A kite has two pairs of adjacent sides that are equal, not all four sides. 

• B. Both pairs of opposite angles are equal. 
Incorrect: Only one pair of opposite angles is equal. 

• C. One pair of opposite angles is equal. 
Correct: This is a property of a kite. 

• D. The diagonals are equal in length. 
Incorrect: The diagonals in a kite are not equal in length. 

• E. Opposite sides are parallel. 
Incorrect: No sides in a kite are parallel. 
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4. Which of these statements correctly describes a rectangle? 

• A. All sides are of equal length. 
Incorrect: Opposite sides of a rectangle are equal, but adjacent sides are not. 

• B. The diagonals are unequal. 
Incorrect: The diagonals of a rectangle are equal in length. 

• C. All angles are right angles. 
Correct: This is a defining characteristic of a rectangle. 

• D. Only two angles are right angles. 
Incorrect: All four angles in a rectangle are right angles. 

• E. Adjacent angles are supplementary. 
Incorrect: While this is true, it is a general property of all parallelograms, not 
specific to rectangles. "All angles are right angles" is a more defining feature. 
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5. What is true about the diagonals of a square? 

• A. They are unequal in length. 
Incorrect: The diagonals of a square are always equal in length. 

• B. They bisect each other but do not form right angles. 
Incorrect: In a square, the diagonals bisect each other at right angles. 



• C. They do not intersect. 
Incorrect: The diagonals of a square always intersect at the center. 

• D. They bisect each other at right angles. 
Correct: This is true for all squares. 

• E. Only one diagonal bisects the other. 
Incorrect: Both diagonals bisect each other in a square. 
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6. Which of the following statements about a trapezium is true? 

• A. Both pairs of opposite sides are parallel. 
Incorrect: This describes a parallelogram, not a trapezium. 

• B. All four sides are of equal length. 
Incorrect: Only in a special trapezium (isosceles) are certain sides equal, but not 
all four. 

• C. One pair of opposite sides is parallel. 
Correct: This is the defining feature of a trapezium. 

• D. The diagonals are always equal. 
Incorrect: The diagonals are not necessarily equal in a trapezium. 

• E. Adjacent angles are equal. 
Incorrect: Adjacent angles in a trapezium are not necessarily equal. 
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7. In an isosceles trapezium, which statement is true? 

• A. All angles are right angles. 
Incorrect: Only in a rectangle do all angles equal 90 degrees. 

• B. The non-parallel sides are unequal. 
Incorrect: In an isosceles trapezium, the non-parallel sides are equal. 

• C. The base angles are equal. 
Correct: In an isosceles trapezium, the base angles are indeed equal. 

• D. The diagonals are always perpendicular. 
Incorrect: The diagonals of an isosceles trapezium are not perpendicular. 



• E. All sides are of different lengths. 
Incorrect: In an isosceles trapezium, the non-parallel sides are equal. 
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8. Which of the following is true about the diagonals of a parallelogram? 

• A. They are equal in length. 
Incorrect: The diagonals of a parallelogram are not necessarily equal. 

• B. They bisect each other at right angles. 
Incorrect: This property holds only in special cases, like a rhombus. 

• C. They do not bisect each other. 
Incorrect: The diagonals of a parallelogram always bisect each other. 

• D. They bisect each other but are not equal in length. 
Correct: This is true for a parallelogram. 

• E. They intersect outside the shape. 
Incorrect: The diagonals of a parallelogram always intersect within the shape. 
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9. Which is true about the diagonals of a kite? 

• A. They are equal in length. 
Incorrect: The diagonals of a kite are not equal in length. 

• B. They bisect each other at right angles. 
Correct: This is true for a kite. 

• C. They are parallel to each other. 
Incorrect: The diagonals of a kite are not parallel. 

• D. They do not intersect. 
Incorrect: The diagonals of a kite always intersect. 

• E. Both diagonals are bisected equally. 
Incorrect: Only one diagonal is bisected in a kite. 
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10. Which of the following is true about the angles in a rhombus? 



• A. All angles are equal. 
Incorrect: Only in a square are all angles equal (90 degrees). 

• B. All angles are right angles. 
Incorrect: Only in a square (a special type of rhombus) are all angles right angles. 

• C. Opposite angles are equal. 
Correct: This is true for all rhombuses. 

• D. The adjacent angles are equal. 
Incorrect: Adjacent angles in a rhombus are supplementary but not equal. 

• E. None of the angles are equal. 
Incorrect: Opposite angles in a rhombus are always equal. 
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11. Which fact is true about a rectangle’s diagonals? 

• A. The diagonals bisect each other at right angles. 
Incorrect: The diagonals in a rectangle bisect each other but do not necessarily 
meet at right angles. 

• B. The diagonals are unequal. 
Incorrect: The diagonals in a rectangle are always equal. 

• C. The diagonals bisect each other and are equal in length. 
Correct: This is true for all rectangles. 

• D. The diagonals do not intersect. 
Incorrect: The diagonals of a rectangle always intersect at the center. 

• E. Only one diagonal bisects the other. 
Incorrect: Both diagonals bisect each other in a rectangle. 
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12. What is true about the sides of a parallelogram? 

• A. Opposite sides are unequal. 
Incorrect: In a parallelogram, opposite sides are always equal. 

• B. Adjacent sides are equal. 
Incorrect: Adjacent sides are only equal in a rhombus or square. 



• C. All sides are unequal. 
Incorrect: Opposite sides of a parallelogram are equal. 

• D. Opposite sides are equal and parallel. 
Correct: This is a defining characteristic of a parallelogram. 

• E. Only one pair of sides is parallel. 
Incorrect: Both pairs of opposite sides in a parallelogram are parallel. 
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13. What is true about the adjacent angles in a parallelogram? 

• A. Adjacent angles are always right angles. 
Incorrect: Only in a rectangle or square are all angles right angles. 

• B. Adjacent angles are supplementary (sum to 180 degrees). 
Correct: This is true for all parallelograms. 

• C. Adjacent angles are equal. 
Incorrect: Opposite angles in a parallelogram are equal, not adjacent angles. 

• D. Adjacent angles sum to 90 degrees. 
Incorrect: The sum of adjacent angles in a parallelogram is 180 degrees, not 90. 

• E. Adjacent angles are complementary. 
Incorrect: Adjacent angles are supplementary, not complementary. 
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14. Which statement is true about a square? 

• A. Opposite sides are unequal in length. 
Incorrect: All sides of a square are equal. 

• B. All angles are equal but not right angles. 
Incorrect: In a square, all angles are equal, and all are right angles (90 degrees). 

• C. The diagonals are equal but do not bisect each other. 
Incorrect: The diagonals of a square both bisect each other and are equal. 

• D. All sides are equal, and all angles are right angles. 
Correct: This is a defining property of a square. 

• E. Only two sides are equal in length. 
Incorrect: All four sides of a square are equal. 



No.other.correct.answers¡ 

 

15. Which is true about the angles in an isosceles trapezium? 

• A. All four angles are equal. 
Incorrect: Only in a square or equilateral shape are all four angles equal. 

• B. The diagonals are always equal. 
Incorrect: While the diagonals of an isosceles trapezium may be close in length, 
they are not necessarily always equal. 

• C. The base angles are equal. 
Correct: This is a property of an isosceles trapezium. 

• D. All angles are right angles. 
Incorrect: Only in a rectangle or square are all angles right angles. 

• E. No angles are equal. 
Incorrect: In an isosceles trapezium, the base angles are equal. 
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Answer Key 

3D Blocks 

1 d 

2 c 

3 e 

4 d 

5 b 

Rotation 

1 d 

2 e 

3 b 

4 a 

5 f 

6 c 

2D View Key 

1 e 
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3 d 

4 c 

5 d 

Combined Shape Key 

1 a 

2 d 

3 e 

4 e 

5 c 

6 b 



 
 
 
 

 

Answer Key: 

1. d) Watch the wall and don’t ask questions. 

2. e) Brandy, tobacco, and letters. 

3. e) Put the brushwood back and leave them alone. 

4. d) The coat has been used in a recent journey. 

5. c) They are trying to find out if the Gentlemen passed through. 

6. c) You’ll receive a present from France. 

7. e) They are trained not to bark at the Gentlemen. 

8. a) Ignorance is safer than knowing too much. 

9. d) Warning or advising. 

10. e) Smugglers bringing goods secretly. 

11. d) They receive smuggled goods like brandy and tobacco. 

12. d) To avoid seeing the Gentlemen's illegal activities. 

13. c) They will disappear by the next day. 

14. b) A bribe or reward for silence. 

15. d) Worrying or being anxious. 

 
 


	ilovepdf_merged (4).pdf
	homeworkmockexam6answers.vsdx
	Page-1


	Binder1.pdf
	ilovepdf_merged-13
	ilovepdf_merged-14
	ilovepdf_merged-15
	ilovepdf_merged-16
	ilovepdf_merged-17
	ilovepdf_merged-18
	ilovepdf_merged-19
	ilovepdf_merged-21
	ilovepdf_merged-24
	ilovepdf_merged-29
	ilovepdf_merged-32
	ilovepdf_merged-35
	ilovepdf_merged-41




